6+4=__ 20+ ..=40 . + 250 = 500
7+3= . 25+ . =50 .. + 500 = 1 000
o 8+2= 5+ .=100 . + 250 = 1 000

8+ . =10 S+ ... =10 | .. +10=17 8+ . =15 | . +12=22
...... +7=10 .t 2=10 10+ ...=19 ¥ 7=15 15+ ...=20
...... +6=10 ...+ 1=10 11+...=20 14+ ...=20 14+ ...=25
6+ .. =12 /+ . =12 /+ . =14 15+ ... =19 | . +11 =23
3+ ... =12 | .. +9=18 8+ .. =16 11T+ .. =17 | .. +8=14
10+ ... =25 | 32+ .. =40 | 20+ .. =40 15+ .. =40 12+ .. =51
...... +14=30 | ...+24=35 15+..=30 | ..+21=40 | ... +16=32
...... +23=25 17+..=30 | ..+17=38 | ..+14=35 | 47+ ..=55
24 + ... =31 10+ ... =41 | .. +12=25 | 23+ .. =35 | 36+ .. =50
18+ ... =25 8+ .. =25 34+ ... =40 | 40+ ... =50 | .. + 14 =48
17+ ... =27 | 49+ .. =60 17+ ... =37 | 41+ .. =60 | 25+ .. =50
...... +19=30 | ..+42=60 | .. +35=65 | 35+.=70 | ..+50=75
...... +15=40 | 24+ ... =51 26+ ...=45 | 36+ ...=48 | 50+ ... =100
34+ .. =55 | 36+ .. =48 | 37+ .. =47 | .. +50=77 |75+ ... =100
37+ .. =50 19+ ... =38 | 58+ .. =70 | . +49 =77 | 25+ ... =100
e Complete:

210 328 Co. Co

+ ... + ... + 475 + 747

50 600 891 973

855 Co. /32 879

+ ... + 270 + ... + ...

1000 1000 1000 1000

/.2 4 4348

+ 567/ + .5 . + 7.5 + ...

1000 1000 1250 5000

/5 9.8 /.9 88

+ / + 6 . + 5 + 4.6

1302 1075 853 12.0




